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No. Of Questions - 100

Max. Marks - 200
Time - 60 Minutes

Instructions:

Read carefully the instructions given below before answering the questions.
This multiple choice question consists of 100 questions, Booklet carries 12 pages.
Fill your Roll No, Test Booklet No, Booklet Series clearly without any overwriting.

2 B B

Darken only ONE Choice with Black Ball pen from the four options marked a, b, ¢, d

on the OMR sheet provided.

V.  The instructions on the OMR sheet should be followed carefully.

VI. Each question carries 2 marks.

VII. All questions are compulsory.

VIII. Do not write anything on this question booklet. Only filled OMR sheet will be
accepted as answer script.

IX.  You will be provided extra sheets for rough works which must be later attached at the
end of pages.

X.  Candidate should allocate their time judiciously in all the Questions.
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Choose the correct one

01.

02.

03

04.

05.

06.

07.

08.

09.

10.

11.

Who is the President of India? .
a. Pranab Mukherjee b. Hamid Ansari

c. Manmohan Singh d. PA Sangma

Which of the following is a newly created District of Meghalaya, created in 2012 ?
a. North Garo Hills b. Ribhoi

c.  West Khasi Hills d. South Garo Hills

Name of the capital of Arunachal Pradesh?

a. Tawang b. Aizwal

c. Itanagar d. Kohima

Kaziranaga National Park is in

a. Arunachal Pradesh b. Dimapur

c. Meghalaya d. Assam
Meghalaya has border with which District of Assam?

a. Kamrup b. Sonitpur

c. Darrang d. Golaghat
What is the currency of Bangladesh?

a. Takka b. Dacca

c. Rupee d. Rupiah

Find the odd man out

a. VP Singh b. AB Vajpayee
c. Rahul Gandhi d. Narashimha Rao
Where was last Olympics held?

a. Beijing b. New York

c. London d. Singapore

Who is the current Speaker of the Lok Sabha?
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a. PA Sangma b. Meira Kumar
c. Hamid Ansari d. Manmohan Singh
Which of these rivers is in Meghalaya?
a. Dhansiri b. Simsang
c. Kemang d. Luit
What is the population of Meghalaya as per 2011 Census?
a. 22 lakhs b. 20 lakhs
c. 29 lakhs d. 25 lakhs
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12.

13.

14.

15.

16.

17.

18.

19,

20.

21.

22.

Who is the Chief Minister of Meghalaya?
a. Dr. DD Lapang
c. Dr. PA Sangma

AIDS is caused by
a. HIV bacteria
c. Anopheles Mosquito

Mary Kom won Olympic Medal in
a. Judo
c. Boxing

Malaria is spread by
a. Male Anopheles mosquito
c. Male Culex mosquito

Who is the Governor of Meghalaya
a. JB Patnaik
¢. RS Mooshahary

Which of the following body part protects the brain?

a. Rib cage
c. Vertebral column

Meghalaya has border with
a. Bangladesh
¢. Myanmar

In which country is Mount Everest situated?
a. India
c. Bhutan

Which of these is celebrated as Meghalaya Day?
a. 20" January
c. 22" January

Pick the odd one out
a. Meghalaya

c. Mizoram

Pick the odd one out
a. Moon

c. Venus

Dr. Mukhul .Sangma
Mr. RS Mooshahary

HIV Virus
Culex Mosquito

Wrestling
Karate

Female Anopheles Mosquito
Female Culex mosquito

MM Jacob
Dr. Mukul Sangma

Skull
None of these

Bhutan
China

China
Nepal

21* January
23" January

Manipur
Madhya Pradesh

Mercury
Mars
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Where is the headquarters of West Jaintia Hills?

a. Kleirihat b. Jowai

c. Dawki d. Nongstoin

The National Language of the India is "
a. Sanskrit b. Hindi /

c. English d. Engilsh and Hindi
How many Districts in Meghalaya?

a. 10 b. 11

¢ 8 d 12

Capital of Nagaland?

a. Dimapur b. Kohima

c. Imphal d. Aizwal

Dr. Bhupen Hazarika was

a. Poet and singer | b. Classical dancer
c. Novelist d. Dramatist

Which mineral is found in Meghalaya
a. Titanium b. Thorium
c. Uranium d. Platinum

Which Industry is in Meghalaya

a. Steel b. Cement
c. Refinery d. Car Manufacture
A leap year has how many days?
a. 364 b. 365
c. 366 d. 360
What is 25% of 200
a. 50 b. 100
c. 25 d. 150
If Tony secures 50% , and gets 125 marks in exam. What is the maximum mark?
a. 350 b. 225
c. 150 d. 250
What is the sum of the angles of a triangle
a. 150 b. 180
c. 300 d. 360
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34.

35,

36.

37.

38.

39.

40.

41.

42.

43.

A pentagon has how many sides?

a. 4 b. 5

c. 6 d. 7

Peter walks 18 km in 3 hour, what is his average speed?

a. 3 b. 6 ’
¢c. 9 d. 18

Mary cycles 12 km in one hour. How long will she take to cover 48 km
a. 3 hours b. 4 hours

c. 6 hours d. 12 hours
What is the sum of the internal angles of a rectangle?

a. 180 b. 160

c. 300 d. 360

If x=2 and y=3, what is 2 xy?

a 12 b. 6

e 23 d. 32

In a circle, what is the line passing through the centre and touching both ends
on the circumference?

a. diameter b. radius

c. sector d. arc

John is 42 years old. If John's age is twice that of his son today, what will be his
son's age after 10 years

a. 52 years b. 27 years

c. 21 years d. 31 years

Seven persons complete a work in four hours. How many persons can complete the same
work in two hours.

a. 12 persons b. 16 persons

c. 14 persons d. 20 persons

Pick the odd one out

a. 1 b. 3
c. 4 d 5
Pick the odd one out
a. 10 b. 12
c. 14 d. 17
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45.

46.

47.

48.

49.

50.

S

22

e

54.

35.

What is the square of 9
a. 90
c. 99

What is the square root of 64
a. 8

c. 64

Johnyis —_____ friend

a. me

c. my

JohnyandI _______ good friends

a. are

c. will

India is country

a. me

c. our

That bookis

a. Interesting

c. Interestingly

Smoking is —__ for health

a. wrong

c. good

My brotheris —_ than me

a. tall

c. taller

It has been raining morning
a. to

c. up

He is the of the three brothers
a. elder

c. old

Cherra Punjee many tourists
a. attract

c. attracts

The word Meghalaya means

a. Abode of the Clouds
c. Land of the Himalayas

o

81
18

mine
him

am
was

mine
ours

Interested
Interest

bad
better

tallest
talled

at
since

eldest
elderly

attractive
attracting

Land of the tribals
Rainiest State
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56.

57.

38,

39,

60.

61.

62.

63.

64.

65.

66.

67.

Choose the odd one out
a. constable
c. Inspector

A person who cannot hear
a. Dumb
c. Blind

Plural of woman
a. Womans
c. wemen

Plural of tooth
a. teeth
c. toeth

Past tense of write
a. write
c. written

Past tense of beat

a. beat

c. beated

James ______ the guitar

a. play

c. player

James is a

a. guitar

c. guitarist

Jimmy _________ the aeroplane
a. fly

c. flied

John _____ to Church every Sunday
a. go

c. gone

Parents include
a. Father and mother
c. Mother and grandmother

Choose the odd one out
a. Paper
c. Chair

Sub inspector
Driver

Deaf
Lame

wimen
women

tooths
toothes

wrote
writed

beaten
bet

plays
playful

guitarer
guitartist

flies
flying

goes
goed

Father and grand father
Father mother and maternal uncle

Table

Sofa
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68.

69.

70.

71

T2

73.

74.

15.

76.

T

18,

LBW is a term used in

a. Football b. Cricket

c. Volley Ball d. Golf

Captain of Indian Cricket Team is

a. Sachin Tendulkar b. MS Dhoni

c. Bishen Singh Dhoni d. Rahul Dravid
If the length of a rectangle is 5 cm and breadth is 3 cm, what is its area in sq cm?
a. 16 b. 8

G 15 d. 30

If the side of a square is 7 cm, what is its perimeter?

a. 49 b. 28

c. 14 d. 21

A right angle measures _—______ degrees

a. 80 b. 60

b. 90 d. 180

If the diameter of a circle is 10 cm, what is its radius?

a. 50cm b. 20 cm

c. 100 cm d. S5cm

If the Tomy's present age is x years, what will be his age after 5 years?

a. x/5 b. 5x

c. x-5 d. X+45

If 2x = 16, what is the value of x?

a. 16 b. 8

¢ 32 d 4

3 meter is equal to —____ cm?

a. 3000 b. 30

c. 300 d. 30000

John bought a cycle for Rs. 2200 and sold it for Rs. 2350 What is the profit/loss?
a. Profit of Rs. 150 b. Loss of Rs. 150
c. Loss of Rs. 250 d Profit of Rs 250

If Jane deposits Rs. 2000 in a bank at 8% interest, what will be the amount at the
end of one year?

a. 2108 b. 2016

c. 2160 d. 2060
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79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

Romen spent Rs. 345 on vegetables, Rs. 1105 for meat and Rs. 210 on fruits.

How much did he spent?
a. Rs. 1610
c. Rs. 1510

b. Rs. 1460
d. Rs. 1660

My salary is Rs. 15150. I spent Rs. 11250. How much did I save?

a. Rs.3610 b. Rs.3900
c. Rs. 3990 d. Rs. 4990
If the cost of one shirt is Rs. 482, what is the cost of 11 shirts?

a. Rs. 5302 b. Rs. 5102
c. Rs. 4802 d. Rs. 4902
My mother and _______ will be going to the market

a. [ b. Me

c. Myself d. Herself
Although Alan is older, his younger brother is taller than _______is.
a. Himself b. He

c. Me d. 1

We saw our reflection in the ________ water

a. Murkey b. Dirty

c. Clear d. Large
Beware of the tiger. It is a animal

a. Cute b. Ferocious
c. Tame d. Gentle
Smokingisan_________ habit

a. Useful b. Unhealthy
c. Unnecessary d. Useless
Did you have a journey

a. Pleasant b. Funny

c. Clear d. Tame
Heis very _______ that his son won the scholarship

a. Interested b. Lame

c. Happy d. Sad

Of all the dishes, thisoneisthe ____

a. Tasty b. Tastier

c. Tastiest d. Tasting

Wi 2
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90.

a. India
c. Indians

91. you like to watch movies?
a. Does
¢ is

92. Tam_______ for Shillong tomorrow
a. Leaves
c. Leaving

93. Sheismy_______ english teacher
a. Favourite
c. Favour

94. India_______ the cricket world cup
a. Winning
c. Won

95. Itis—___ very cold day
a A
C.~ A

96. My parents _______ going to China
a. Is
c. Of

97. Itis a big college. More than a 100 teachers
a. Employed
c. Employees

98. How much of Meghalaya's land area ______
a. Covering
c. Iscovered

99. The hostel gates are ____ at § pm
a. Locking
¢. Lock

100. The parcel —____ yesterday

cultural diversity attracts many tourists

a. Arriving
c. Arrived

b. India's
d. Indias'
b. Have
d. Do
b. Left
d. Leave
b. Favouritest
d.
b. Win
d. Winnest
b. The
d. Of
b. Are
d. w1t

there.

b. Are Employed

d. Employ
by forest?

b. Covered
d. Cover
b. Locked
d. Locks

b. Arrive
d. Arrives

None of the options
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